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QUESTION 1

Which two components must be configured as stretched to establish intra-VRF communication between two EPGs that
are deployed in different sites and different bridge domains? (Choose two.) 

A. contract 

B. tenant 

C. application profile 

D. bridge domain 

E. EPG 

Correct Answer: DE 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/white-paper-c11-739609.html 

 

QUESTION 2

Which two actions are the Cisco best practices to configure NIC teaming load balancing for Cisco UCS B-Series blades
that are connected to the Cisco ACI leaf switches? (Choose two.) 

A. Create vPC+ 

B. Enable LACP active mode 

C. Create PAgP 

D. Create vPC 

E. Enable MAC pinning 

Correct Answer: BE 

 

QUESTION 3

A network engineer configured an active-active firewall cluster that is stretched across separate pods in the Cisco ACI
fabric. Which two implementation setups for anycast services are available? (Choose two.) 

A. Modify the Cisco ACI contract scope 

B. Modify the MAC address on the second firewall 

C. Configure the firewalls behind an EPG subnet 

D. Deselect No Default SVI Gateway under EPG Subnet 

E. Deploy a Layer 4 to Layer 7 service graph with PBR 
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Correct Answer: BC 

 

QUESTION 4

DRAG DROP 

A leaf receives unicast traffic that is destined to an unknown source, and spine proxy is enabled in the corresponding
bridge domain. Drag and drop the Cisco ACI forwarding operations from the left into the order the operation occurs on
the right. 

Select and Place: 

Correct Answer: 
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QUESTION 5

Cisco ACI fabric is migrated from network-centric mode to application-centric mode. What is possible in an application-
centric design? 

A. remapping of VLAN pools 

B. migration of bare metal servers to virtual machines 

C. creation of additional EPGs under one bridge domain 

D. Cisco ACI VMM integration with hypervisors 

Correct Answer: C 
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